[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

Efficiend

N

9.045

[
>
>

(8]
9.035

e
=
)

0.025

0.015

0.005

Ratio

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

1.0

=

e mnman U RRRRNRARRE RY LR RRRRS LAALS RAARE RARLEI

0.95

=
2
N

10

1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vertr

take+duplicates vs. r

Ratio

1

0.8

0.6

0.4

0.2

................................................

0.950
1072

101

—s=— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__allINODNN
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__all

0.05

0.04

0.03

0.02

0.0

Vs

............

............

............

............

0.95!

E
=20

10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N

0.05

>
50.045

£
n

0.04

%.035
>

[S]
c
()

0.03

2.025

[}

0.02

0.015

0.0

0.005

Ratio

n

1.0

=10

10

15 20

éim. PV z (cm)

N
)
>

ake+duplicates

—

Ratio

1 10 0?
track ref. point r (cn%)

0.5
0.45

o
© w @
w O

0.25]
0.2
0.15
0.1
0.05
Vel

.........

...............................

...............................

.......................

iy

0.95

-10 0 10

E....i....i....l....l
=20

20

30

track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N

0.2

B P R L 2R T
o
.....................
T . .
e
..... Do
s s
1 B T

10

15

20

Sim. PV z (cm)



	Contents
	Page 1


